EVALUATION KIT FOR SA60 PIN-OUT

MICROTECHNOLOGY

EKO6

INTRODUCTION

Fast and easy breadborading of circuits using the SA60 are
possible with the EK06 evaluation kit. The amplifier may be mounted
vertically with the HS20 heat sink, or horizontally. Connections are
provided for required power supply bypassing recommended pro-
tection components, as well as optional current sense resistors. A
large area for component mounting provides flexibility and makes a
multitude of circuit configurations possible.

ASSEMBLY

1. Onthe silk screen side of the evaluation board, insert and solder
the MS06 mating socket in DUT holes 1 — 12. Be sure each one
is fully seated.

. Solder components for your circuit. Be sure to include proper
bypassing. See the SA60 data sheet for help in selecting these
components. 1uF capacitors and a .10 Q resistor have been
included with the EKO6 kit but may be replaced with other
components as necessary. C1, not provided, should be selected
for the voltage required by the application. See Apex Application
Note 30 for guidelines in selecting this bypass capacitor. If
current sense resistors are not used, the | SENSE traces on the
EVAL11 board must be shorted to power ground in place of the
resistors.

. Place the TWO7 thermal washer on the heat sink over the
mounting hole for the DUT. Place a #6 screw through the
mounting hole and thread a #6 nut onto the screw at the back of
the heat sink. Do not tighten. Note that there are two sets of
mounting holes on the HS20). Holes on one edge allow room
betweenthe DUT and evaluation board for the MS06 socket. The
holes on the other edge are for direct through hole mounting of
the DUT to the evaluation board. Itis recommended that you use
the MS06.

Use the supplied thermal washers or
thermal grease between the power
amplifier and the heat sink.

B 4% 51 M # 886-3
JE 45 7 L (B i) 86-21

4. Mount the DUT to the HS20 by sliding under the head of the #6
screw and on top of the thermal washer. Tighten the nut to the
specified 8 to 10 in-lbs. (.9 to .13 N*M). Do not over torque.

5. Install leads of the DUT into the MS06 on the evaluation board.
Use #6 self-tapping screws to secure the evaluation board to
the HS20 heat sink as shown in the assembly diagram (Figure 1).

PARTS LIST

Part # Description Quantity

HS20 Heatsink 1

EVAL11 PC Board 1

MS06 Mating Socket 1

OX7R105KWN 1uF Ceramic Capacitor 2

CSRO07 .1 @ 1% Resistor 2

TWO7 Thermal Washer 1 package

HS22 Heatsink 2

BEFORE YOU GET STARTED

All Apex amplifiers should be handled using proper ESD
precautions.

Always use the heat sink and thermal washers included in this
kit.

Always use adequate power supply bypassing.

Do not change connections while the circuit is powered.
Initially set all power supplies to the minimum operating levels
allowed in the device data sheet.

Check for oscillations.

Power ground and signal ground must be separated to avoid
switching noise in the DUT.

5753170
54151736
W45 b B (i 81) 86-755-83298787

Http://www. 100y. com. tw I
O cC DU
0 00000000000000000000 0050?030‘50351
o|[o_o][o"o][c_o]o] [o[ o offof[o_o o] [o[o o]|o oll[of|o]|olllofle]|o] |o]lle]llo] {o] |o
o[[c—o][o o][c o ]d] IOOO]OIOOO]ICEWO ollle] o] [ofjoflio] [ol [efjofiof o] o]
oeolcdc ol  [ofogliojlo ool *™ [olo olfo N e EREEEEE
O[OOO]IC[OOO]OOOO] [o[ o o]l oll[of|o]]o]llofle] o] [o]lle]llo] {o] |o
o|[c"o][oo][o o o] [o] [0 o]lfof[oc—0 o] [o o 9]0 ofllo] [elo]lo]llo] lo] lollo[llo] lo] o]
o|[c—o][co][o o0l [o] o o]|o|l[c_00o] [c o 9llo olleraimiloliel o cllolic o1 o1
o|[o_o][o_o][c_o o] [o] o oljojlo_o 9] [0 o 9]|o olllo] o |o|llo|lle] [of|ofle]io] |o] |o
oj[co][c_o][c_o o] [o[ o o]jojlo o o] [°c o dJle olllo] |o]|o]flo|flo] |o] |o]i|o]llo] o] o]
[col[c o o] [o|lc_oQldllco a] [0 o d]|o o|\[o1 101 [31llo|le1 /o1 [aTllo I/ 01 [0
[0ooo0oo0o0000000O0O0 O 0 0 0 olllollollolllolllo] ol lolllolllol o] lo
00000000O0O0O0OOO olllo] |o]|olflolllo] |o] |o]llo]l|o] |o] [o
aa;ooagaaaga
TGNAL N )
o] GND
J A EVALILL
SIGNAL REV-D Rsense A
MICROTECHNDOLDOGY
GND P
INPUIT DISABLE INPUT Vcc A OUT
o o o o o o o o o o
® o
o o



Http://www.100y.com.tw
User
新建印章


B 4% 5 # # 886-3-5753170
JVE 4% ) W F (i) 86-21-54151736
0% 1 - (I 86-755-83298787
EK06 JHEAE ) L (0 EVALUATION KIT
Http://www. 100y. com. tw FOR SA60 PIN-OUT

/_ HS20

0 O

O MounT DUT 06
O Hs20 UNDER DUT
WITH #6
SCREW & NUT

O
O
DUT

EVALUATION BIZIARD/
#6 SELF TAPPING SCREW (TYP) /

NOTE: ALL FASTENERS NOT INCLUDED

FIGURE 1.

This data sheet has been carefully checked and is believed to be reliable, however, no responsibility is assumed for possible inaccuracies or omissions. All specifications are subject to change without notice.

2 EKO6 REV B JULY 2003 © 2003 Apex Microtechnology Corp.


Http://www.100y.com.tw
User
新建印章


